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General Instructions:

1. The question paper comprises of six sections — A, B, C, D, E and F. There are 37
guestions in the Question papers. All questions are compulsory.

2. Section A — From questions 1 to 20 are MCQs of 1 mark each.

3. Section B — Question no. 21 to 24 are Very Short Answer Type Questions, carrying 2
marks each. Answer to each question should not exceed 40 words.

4. Section C contains Q.25 to Q.29 are Short Answer Type Questions, carrying 3 marks
each. Answer to each question should not exceed 60 words.

5. Section D — Question no. 30 to 33 are long answer type questions, carrying 5 marks
each. Answer to each question should not exceed 120 words.

6. Section-E - Questions no. from 34 to 36 are case based questions with three sub
guestions are of 4 marks each. Answer to each question should not exceed 100 words.
7. Section F — Question no. 37 is map based, carrying 5 marks with two parts, 37a from
History (2 marks) and 37b from Geography (3 marks).

8. There is no overall choice in the question paper. However, an internal choice has been
provided in few questions. Only one of the choices in such questions have to be
attempted.

9. In addition to this, separate instructions are given with each section and question,
wherever necessary.

WS-P/Section A - 98 fawedia U4 /MCQs (1 X 20 = 20)
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wig § "fHaig Yee & Hgad aRom 9 |

(3N)TRTE BT I TS P HH gl STl §

(@)TTE B 9 STl & 3R T Ta T AT 7t @lie Tava
%@mw, SR, At 3R U8l de o e Teeh < &1 HRuT §-
@) IWIad gt

The **crisis of subsistence™ in France had the following consequences

(A)Bad harvest leads to scarcity of grains

(B)Food prices rise and the poorest cannot buy bread

(C)Leads to weaker bodies, diseases, deaths and even food riots

(D)AII of the above

IR e Uy & HYF (A) 3R HRU(R) & ®U H RIfgd QP HYT 81 FYT DI
Ug 3R Ug! faded |

B (A): BT & AN A IRATT & fobal DI o & T

HRUT (R): T BT TR fopcd T ST T XVI TG HHIER b 814 DI GHTaT ot
(3) A 3R R FI T & 3R R, A P Tg! AR B |

@) A 3R R G I § AfthT R, A & T8t R T8l 5|

() A T ¢ Afp R TAd §

(@A T & Afh R T &

In the question given below, there are two statements marked as Assertion (A)
and Reason (R). Read the statements and chase the correct option:

Assertion (A): The people of France stormed the fort of the Bastille.

Reason (R): They were hopeful.to find' King Louis'’XVI and commander of the
Bastille there.

(A) Both A and R are true and R'is the correct explanation of A.

(B) Both A and R are true but R is not the correct explanation of A.

(C) Ais correct but R is wrong.

(D) A'is wrong but R is correct.

9 9 forg AT ) A Bt «3iia SRR T o 82

(31) UYH Ay g THI i1 AT

@)U farl &I geaidd Bt ST A1y

(E)d! BT TSN fosa ST AT

(@) SWiad I+

Which of these demands is/are referred to as “Lenin April Thesis”?
(A)World war | should end.

(B)Land should be transferred to the peasant.

(C)Banks should be nationalised
(D)AII of the Above

e diedart & gsard IR U SHATRAT &t 3 7 off 2

What were the demands made by the worker in St. Petersburg who went on
strike?
(A)Reduction of working time to eight hours.

1



(B)Increase in wages

(C)Improvement in working conditions

(D)AII of the above

feeer o1 fadwr Hifa o1 ey IEzg n U1, foraes Rl fadia iy gg &
Tr?

(37) HTSIATG B [dHR @RI 59 &1 i

) fay =ifa &1 v (@)STH &7 BT fawaR

What was the main aim of Hitler's foreign policy, which led to the outbreak of
World War 11?

(A) Expansion of socialism (B) Creation of a European Union
(C) Pursuit of world peace (D) Expansion of German territory

TR 1 T 39 <1 1 a3 ford 31 &t 1 YR & I 61 Rl @, 311a
g1t o 98 fooe =1 1 Famdt 82

(31) Y OELIEERIIE]

QELLIFR (@) U

My friend hails from a country which does not share land boundary with
India. Identify the country.

(A) Bhutan (B) Tajikistan

(C) Bangladesh (D) Nepal

e 1§, g &1 ad 98T S1ETE el g9 82

(3THe Sl

CORIEIER (&) Frgel

In the Brahmaputra river, is the largest inhabited riverine island in the world.
(A) Narmada (B) Krishna

(C) Godavari (D) Majuli
FafaRad o 9 oF W Thgid YRd & 999 dd! g 67

(3)THe @

()T () HeTal

Which one of the following is the longest river of the Peninsular India?

(A) Narmada (B) Krishna

(C) Godavari (D) Mahanadi

faem o famor & Ie! Yfiwrstt & a1y FafaRad Aarsil &1 fiam &%
J-AIdtdrd dge 1-faeT FUT o 3rege &

CRURIGR IS G 2- HiAYT GHT & Ja&d

- Iig U4Te 3- UR=Y Wilfd & sreqef

G-I g 4-1928 T YR & forw U wifaem &1 fAmfor
(3l) H-4,§-3,9-1,&-2 (d) 3H-4,§-2,9-1,&-3

({) H-3,§-2,9-1,¢-4 () 3H-4,d-1,9-2,&-3

Match the following leaders with their roles in the making of the Constitution:
a Motilal Nehru i President of the Constituent Assembly

b B.R. Ambedkar ii Member of the Constituent Assembly

¢ Rajendra Prasad iii Chairman of the Drafting Committee

d Sarojini Naidu iv Prepared a Constitution for India in 1928
(A)a-iv,b-iii,c-i,d-ii (B)a-iv,b-ii,c-i,d-

ii
(C)a-iii,b-ii,c-i,d-iv (D)a-iv,b-i,c-ii,d-
ii

[EEN

[EEN
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S8 A I A1 THI UIGYH § Sl Ueh aliebalifae Hfdur & 81 82

(3NRTST & R B Wfekrar (@R o GRIGT BT A1

(&) fauTireT ot =ferar (@)= BT A

Which of these is a provision that a democratic constitution does not have?
(A)Powers of the head of the state (B)Name of the head of the state
(C)Powers of the legislature (D)Name of the country

aferr anpie & Medife Ifdum & fHafor & Ie9 ug siafiied oy 50
T P 1 U

(31)cTeruT 3kt 3R IUF USSRyl & "

@)Y 3R Afgarsti & o

() Tad FgH 3R 31T TS & &1d

(@)RAd HTHRIS 3R BT IgHd & d

Which of these was the most salient underlying conflict in the making of a
democratic constitution in South Africa?

(A)Between South Africa and its neighbours

(B)Between men and women

(C)Between the white majority and the black minority

(D)Between the white minority and the black majority

e 39 YRA & PRI & T H A 91 & o Fafifed # 9 o 91 fofa s
T O Hhd g7

(31)3Y fad BT T B S 3T YT Hoft B-FU H U HRd §

(@) T T 1 EWRT B [T Uy AeaH & gHd &

() ge-1 gRT UTRd fagde IR HdaR & ot gl

(@) 3Tt TRig & 13l I HEuRYe H AHifed &3

If you are elected as the President of India which of the following decision can
you take on your own?

(A)Select the person you like as Prime Minister.

(B)Dismiss a Prime Minister who has a majority in Lok Sabha.

(C)Ask for reconsideration of a bill passed by both the Houses.

(D)Nominate the leaders of your choice to the Council of Ministers.

Fofefead & ¥ o W IJaaadar R AR BT SUdsy 81 87
(3N)TRBR P AT B P SISt

(@) ifd H HIT T DI WAl
(A)IRBR FGa- o oY figia I HIA oI Wl
@)WBR & HAT Jedl BT faRIY HRA B Wil

Which of the following freedoms is not available to an Indian citizen?
(A)Freedom to criticise the government

(B)Freedom to participate in armed revolution

(C)Freedom to start a movement to change the government
(D)Freedom to oppose the central values of the government

ﬁﬁ%ﬁﬁﬁﬁm%uﬁuﬁ%%%ﬁﬁmm%&m
IUA 87

(3)PTH TR BT DR @)TaT 3MToifadwT BT SfeR
()TRp e 3R Qe PR OEELIERIREIR

Which of the following rights is available as fundamental right under the
Indian Constitution?
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(A)Right to work (B)Right to adequate livelihood
(C)Cultural and Educational Rights D)Right to privacy

31T fop it a5 waere AT -
(&Di%% | LI
()M it GUERS

Which capital would you consider the best —

(A)Land (B)Labour,

(C)Physical capital (D)Human capital

RIS § 9a9 TR DI 52

(3) STHTCR, HAT SR Tt

(@) ARy, ¢ SR =

EUTEE, 2 4w iR IR

@3TH Y B Tal

Who are the poorest of the poor?

(A) Landlord, ministers and parties

(B) Women, old people and children

(C)Landless, daily wage workers and homeless

(D)None of these

I fReu Uy & HYT (A) 3R BRUT (R) & =0 & [Ifed ) Hy= &1 9ari &Y
Ug 3R e faswed g+

HY (A): HRA B AT FHToIS g1l SR Ui SHFMI & S & §gd
T 9d I |

BRI (R): AN &b HUZ M-I IIh 8Td Bl 8 |

(3) A AR R 3 T 3R R, A P Jg! AR5 |

@) A R R I TG § Afh R, A P eI SRS 181 o

(A T g Af R TAd g |

(@A TTEd § AT R T B

There are two statements marked as Assertion (A) and Reason (R). Read the
statements and choose the correct option:

Assertion (A): An average Indian has to spend huge amount on marriage and
other rituals

Reason (R): There is socio-cultural pressure.

(A) Both A and R are true and R is the correct explanation of A.

(B) Both A and R are true but R is not the correct explanation of A.

(C) Ais correct but R is wrong.

(D) A iswrong but R is correct.

e & TfeIRIe SR &1 UgaH Pifold

(IR ST & Ufdgmd ol TR Bt ifaar
(@)Y Fa1e Dl BT

e 3t Rren w1 R TR

OERIRCEAUPESEI

Identify the historical reason for poverty

(A)British policies not in favour of the local economy
(B) Lack of land resources

(C)Low level of education of the poor
(D)High level of indebtedness




19 grdoii-ep facRuT FomeR gRT f3afed e FaemITIa Al 1
(3N URGT @Te e
)P HAT
()Y 3R URaR A« &1 Jaay
(@@re freor faum
The food distributed by the Public Distribution System is procured through --

(A)Food Corporation of India (B)Ministry of Agriculture
(C)Ministry of Health and Family Affairs (D)Department of Food
Control
20 g wifd & ey & Fafied & 9 oH 91 &3 99 82 1
(318 Hifd & a1 I (T I ST 8
@ERA BT AT H oipa &) R &) IR fear g
@ eRd Pifd YRd H 3ie1a ¥ Fgeq d fowa @
@) eRd Hifd 7 YR & 3bTd I g1l & g¢ faar
Which of the following statements is true regarding the Green Revolution?
(A)The country has avoided famines after the Green Revolution
(B)The Green Revolution has worsened the famine situation in the country
(C)The Green Revolution failed to deal with famines in India
(D)The Green Revolution increased the occurrence of famines in India
WS-W/Section B 3ffd 7Y ST UY/VERY SHORT ANSWER QUESTION
(2x4=8)
21 91 Iia 31 ARy faRivemd e &2 2
What are the peculiar features of Nazi thinking?
22 FOTHAN BT 3R Id & 3l & o9 SR AN AP A Teg@ AT 2
HRAR H T T 781 &7
Why is the difference between the durations of day and night hardly felt at
Kanyakumari but not so in Kashmir?
Or/3Ydr
82°30'E B YR B A HEATE IWT & =0 H 1 g1 T 82
Why 82°30°E has been selected as the Standard Meridian of India?
23 1 fiAfad 1 SISl 34 antt &I o} et anfeu o o sk Waiof a2
Tl X8 82 o1 I oidT ! YT B Pt ZolTold & ST =nfee?
Should the freedom of expression be extended to those who are spreading
wrong and narrowminded ideas? Should they be allowed to confuse the
public?
24 Ta goft fafor & fRiem o1 o Yo 82 2
What is the role of education in human capital formation?
WS- /Section C - €Y NI UH/SHORT ANSWER-BASED QUESTIONS (3x5-
15)
2 1917 Y UG = H BIHGBGI TG GRIY o 37 =01 ¥ fbg @R 3fer di? 3
5 In what ways was the working population in Russia different from other
countries in Europe, before 1917?

Or
1917 H SRS &1 ARG RIAT &1 U= i gl 7112
Why did the Tsarist autocracy collapse in 1917?




2 SR ferd 3
6  Distinguish between
YITR 3R \leR
Bhangar and Khadar
Or/3Ydl
gfgret Tre 3R ydf ure

Western Ghats and Eastern Ghats
fafiiad el # Te HRUI R 9ar fob YR i fhd aig Wad 3
7 gfedl te w)
3R &t fgfad
§-SfoTl I geH T .
-ruTieieh] i fekradl
Give one reason each to argue that Indian judiciary is independent with
respect to:
A-Appointment of judges
B-Removal of judges
C-Powers of the judiciary

N

2 3
8 Table 3.1: Estimates of Poverty in India (Tendulkar Methodology)
' Poverty ratio (%) I Number of poor (in millions)
N 3 ™ ed
| 199394 50 g4 432 3 829 75 104
2004-05 42 ‘|' | zg j L ¥ j B2~ |l 4 107
_200{-.1—11'.} 34 30 278 76 355 |
2011-12 26 | 14 | 22 217 | b3 | 270
Source: India in figures, 2018, Government of India Central Statistics office.
niti.gov.in /statestatistics (accessed on Nov. 15, 2021)

TfereT 3.1 &1 3eqg- 3 3R fFafafad usi & I S

28-31-1993-94 3R 2004-05 & Heg H fefar srurd # fR1ae 3M & 1A
e T AT ST 407 & T A ST el )

28-§-37 ITHIU 3R T YR & TR # it Pt fasfiaar THH 82 (1)

Study Table 3.1 and answer the following questions:
28-A-Even if poverty ratio declined between 1993-94 and 2004-05, why did

the number of poor remain at about 407 million? (2)
28-B-Are the dynamics of poverty reduction the same in rural and urban
India? @
2 ISR MURTSY & HTHA 3T arell IHXTSH BT quid B3 3

9  Describe the problems faced by the Weimar Republic

WS-9 /Section D- &Y ST UH /LONG ANSWER-BASED QUESTIONS
(5X4=20)

3 pifd QWi TaTs & foot Tgg! &1 ATy g3H1? {1 Tgl ol Ixii B & 5
0 o AR foram T2 i o UROIA § THTS 7 19 I 7 FRT=T §31T 12

Which groups of French society benefited from the revolution? Which groups
were forced to relinquish power? Which sections of society would have been
disappointed with the outcome of the revolution?

Or/3ydr




|

3 Additie RER! S T A §-1¢ S 31 g4 i1dt gu & oot
SAfI/SeT i wifd & 87

Draw up a list of democratic rights we enjoy today whose origins could be
traced to the French Revolution

Stations Latitude |Adtitede | Jan. | Feb. | Mar| Apr.| May | Jun, | Jul. | Aug. | Sep. | Oct. | Nowv | Dec.
(Metres)

Temperature (*C) 205 | 227 | 252|271 (267 | 242 (230 | 230 | 23.1 | 29 189 | 202
|Bangalore 12°58°N 09

Rainfall {cm) o7 09 LI| 45107 THUL AL | 13T ) 164 | 153 &1 1.3

Temperature (°C) 244 | 244|267 283 |00 | 289|272 272 272|278 | 272|250
IMumbai 19°N 11

Rannfall {cm) 0.z 0.2 - - I8 | 506 |610) 369|269 48 1.0 -

Temperature (*C) 196 | 220 2701|301 (304 [ 299 | 289 | 287 | 289 | 276 | 234 | 197
|Kolkata 22°34°N &

Rainfall (cm) 12| 28| 34| 51 (134 [ 290 330 | 334 | 253|127 27| 04

Temperature (*C) 144 [ 167 | 233 (300 |33.3 | 333 | 300 | 294 | 239 | 256 | 194 | 156
Dielhi 29*N 219

Rainfall {(cm) 2.5 1.5 1.3 10| 1.8 740193 178 | 119 13 02 1.0

Temperature (*C) 168 [ 192 | 266|298 |333 | 339 30.3 | 290 | 20.1 | 270 | 20.1 | 149
Jodhpur 26" 18N 2124

Rainfall (cm) 05| 06 03] 03 ) 1.0 N8| 131| 57| O 02| 02

Temperature (*C) 245 (257 | 277|304 330 | 325 31.0 | 302 | 298 | 280 | 259 | 247
Chennai 13%4'N 7

Bainfall (cmi) 46| 1.3 13| 18] 38 450 B7| 103 | 119|306 | 350 | 139

Temperaturg (*C) 21,5 [ 239 283 |32.7 |35.5 320|277 | 273 | 279 | 267 | 23.1 | 20.7
MNagpur 21*9'N 32

Rainfall (cm) 1.1 2.3 L7 | 164 21 2224376 | 28.6 | IB.5 3.5 2.0 1.0

Temperature (*C) o8 | 113 | 159 | 125 192 | 2050 21,1 | 208 1200 | 172 | 133 | 104
Shillong 2434 N 1461

Rainfall {cm) 1.4 29 56146 |295 1476|359 | 343 | 302 | IRR 38 06

Temperature (°C) ] e 273 ] 223|287 2k | 26| 2627 262 | 265 [-26:7-{-26.6 | 265
| Tiruvanantapuram B°I¥N 61 1

Rainfall {cm) 23 2.1 37106 |208 | 356|223 146 | 138|273 20.6 T5

Temperature (*C) -85 |-7.2|-06 | &1 [100 [ 144 | 172 ] 161 | 122 6.1 oo |-56
Leh 34N 3506

Rainfall (cm) 10| 08| OBE|[ 05| 05 0% 1.3 13| 0E| 0% - 0.5

31-i) &l alfe g arel WA & 1H 38|
31-(ii) & T [P T & A1 Fd18T|
31-(iiii) FaTfI® JHM SIdar] ard &l TR |
31-(iv) Al fawH Saarg ara & WeH|
31-(v) Aied AFYA ¥ JHIfad & M|
31-(i) Name two rainiest stations.
31-(ii) Name two driest stations.
31-(iii) Two stations with most equable climate.
31-(iv) Two stations with most extreme climate.
31-(v) Two stations influenced by retreating monsoons.
A U el gA1d &1 gl o g2
What are the challenges of free and fair election?
Or
AT SN & U -1t Xfardl ol §, o1 I8 ST o forg st 82

Why does the Election Commission have so much powers, is this good for
democracy?
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T BT T HY 3R FufaRad gyl & I|R

1. F7 1951 & §IE I SIS P WI&RdT <X H i 83 82
2. YRd ¥ WIgRdT & fobg aof waffere gh

3. YR & JONT H &R & SIS [l 87

4. AT goul & ga-1 & &H fRiféd i §2

5. 310 YRd T TIERAT &R DI TUHT HY Hl?

Study the graph and answer the following questions:

1. Has the literacy rates of the population increased since 1951?
2. In which year India has the highest literacy rates?

3. Why literacy rate is high among the'males of India?
4. Why are women less educated than men?

5. How would you calculate literacy rate in India?

WS- F /Section E AT SMUTRT UY /CASE-BASED QUESTIONS (4X3=12)

> =

|: 1S5 — S99 yvears

_ Above 59 years

faw Tu o 1 erTgd e SremE Y iR FAgferiad wet & 3R &

(i) STERe H for 3irg ol o e e aiferep g2 (1)

(ii) BT ST P FToes ST ST &1 ufawrd fha1e?  (2)

(i) HIRd Y 3N S5 fara-t ufawrd g2 1)

Study the given figure carefully and answer the following questions:

(i) Which age group has the maximum share in the population? (@8]
(i)What is the percentage of working population in relation to the total
population? (1)

(iii) What is the percentage of India’s dependent population? 1)
T fer T Ed ol ue R Ry ugi & I &

I B! TG Bl B3 A <R3N ATgs (A VIR B Hed ¢ | 9
! IO & forg ufa ufa o a1e Fafia 0 @ 9919 81 €1 59 99 &I oW &
yufd fFAgad H &1 IGR 81 390 R D9 I S 3000 IS 3M1d B | B




Tl 1 gATd 1 4t Hell § | FATa a8 3§ ugd 9t SHiEaR! & I HRgfRe
g7l ¥ HoR! T 8l & 1 2002-03 H gU gATGT # Rt Higfee uret ik SO Iag
$S DI Ul &b AW Bl o) I1d AS DI forelt | TRBR T3l FgFAE
aref 1 g1 Sl g1 1930 H 3{TelIE 814 & &1 4 H RS 9y 91g Ayufd
T & foIg TG AT o1 &1 <=1 F paft off WISt 2 ar et et 3ng |
AfdrT T 2000 TF &R TG T TIHR3ATS (G egRAd Raleg@=R1 urel) A1 &1
T Uret 1 g1 Sitd et &1 fqueht ga gama o fewar dd 3 R ot oft 3% St
SIRId 81 gldll | I7d T TRE-0RE & gUhe AR g g1l U Sitd gIRId H=
o forg diemRemg pead | TRHRT ThRI H HH - arel 9+t @ o fog aref
HI 93®H! U ST AT YT RBRT Ipdl & TR U S SEAISH & Al-a1d
T dI3RaME & forg aie ¢ &1 ®ed U1 Hifear o S9-a9 faueht gl &t siaem
FRA B AN SAD! AT Bl ToRsar g1 Rl At F5 IR Tdhad ifam
&UT H HdaM dgl Pl T S8 U GCIHR QORI SIvT8 B [T SITdT T Fors 3fHdh
AT dic 81 a1 ST UTd 3 TSRS U+ SHIGAR! & TG A R H1H!
0% Td ot | F9 & FAa B AR o 9EE Sis arRardd iR THR fadwed gt
eI BIaT| ATl ! XM & AT SUD gRI WIPhd SHIGAR! BI & dIc &1 gl g |
1 GH A HUG Y19 g obdl g2 HfRIep! b HIHel H T THIC & b gl bl
faemed gid gu o 3rc T 951 &1 SIFdl & U dig gaRl [ddhed A o7l fa i e
J81 NS & DI URISId g [T Sff Gabdl T, AN & arg- R off 18T | 981 §u
TG wg 981 31 Aidbad & e Rt 19 xr1 81 uaid 1o sial| g1 & U
T TG S oD [Adbed & ard g @i (i i g1 et | arll o I
Tg faseu T A1 e fob 3. a8 @ e < Bl eI W-IAR ¢ |

1= § fFafig e@fd W g9 81 & aracie it 39 U Albdize = T8 &l

Tl

Sl g,
ol )

2-1930 T 315G B1H & TG ¥ T 2000 d% &R I1d CARH S|
forercht

ot 1)

%—B‘q’%ﬁr dd e H few fRwar @& A = @
? 1)

Read the source given below and answer the questions that follow:

In China, elections are regularly held after every five years for electing the
country's parliament, called Quanguo Renmin Daibiao Dahui. The National
People's Congress has the power to appoint the President of the country. It has
nearly 3,000 members elected from all over China. Some members are elected by
the army. Before contesting elections, a candidate needs the approval of the
Chinese Communist Party. Only those who are members of the Chinese
Communist Party or eight smaller parties allied to it were allowed to contest
elections held in 2002-03. The government is Since its independence in 1930,
Mexico holds elections after every six years to elect its President. The country
has never been under a military or dictator’s rule. But until 2000 every election
was won by a party called PRI1. Opposition parties did contest elections, but never



o W

managed to win. The PRI was known to use many dirty tricks to always formed
by the Communist Party. win elections. All those who were employed in
government offices had to attend its party meetings. Teachers of government
schools used to force parents to vote for the PRI. Media largely ignored the
activities of opposition political parties except to criticize them. Sometimes the
polling booths were shifted from one place to another in the last minute, which
made it difficult for people to cast their votes. The PRI spent a large sum of
money in the campaign for its candidates. In China the elections do not offer the
people any serious choice. They have to choose the ruling party and the
candidates approved by it. In the Mexican example, people seemed to really have
a choice but in practice they had no choice. There was no way the ruling party
could be defeated, even if people were against it. These are not fair elections.
Holding elections of any kind is not sufficient. The elections must offer a real
choice between political alternatives. And it should be possible for people to use
this choice to remove the existing rulers, if they wish so.

1-Why can the Chinese government not be called a democratic government even
though elections are held there? 2
2-___ always won elections in Mexico since its independence in 1930 until 2000.
(1)

3-Does the given source explain the significance of which feature of democracy?

1)

Graph 4.1: Prodluctiond®f Foodgrains in India
[Million Porines)
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Source: Economic Survey 2011-12, 2013-14
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Study the Graph 4.1 and answer the following questions:
36-(a) In which year did our country cross the 200 million tonnes per year
mark in food grain

production? 1)

36-(b) In which decade did India experience the highest decadal increase in
food grain production? (2
36-(c) Is production increase consistent in India since 2000-01? Q)

WS- /Section F- AT SMMUTRE /MAP SKILL-BASED QUESTION (2+3=5)
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st wR forfau

On an outline map of the world, two nations A and B are marked. These are
Allied powers that participated in the First World War. Identify these
countries and write their correct names on the lines marked on the map.
YRA & TUET IR IR Fafeiiad § 8 fag! i o) Suged Udie! & a1
Glol 3R A Be |

1--7HeT el

2-JUTheseiy yufard a9

3% I
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On the outline map of India locate and label ANY THREE of the following
with suitable Symbols.

1- Narmada river

2-Tropical Deciduous Forest — Vegetation Type

3-Tropic of Cancer

4-Chilka Lake

Frafefed uy Sad = St SwET & e Uy e 37 & ™A R E
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2-HRd H {5 ¢t &1 IR (3Uarg o) Iad 9871 872
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The following questions are in lieu of question no 37 only for visually
Impaired students

37-A

1- Who wrote the book ""The Communist Manifesto," which laid the
foundation for socialist ideas?

2- Who was the leader of the Bolshevik Party during the Russian Revolution?
37-B

1-Name the group of islands lying in the Arabian Sea.

2-Which river has the largest basin in India?

3- In which state is the Simlipal bio-reserve located?

4- \Which is the longest river of the Peninsular India?
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